SINGLE PHASE
INDUCTION MOTOR

KHM Limited

1SO 9001




Introduction

KHM Single Phase ML, MC, MY Series
Aluminum or Cast Iron Motors are
acknowledged as having a name of Quality
and reliability. They are suitable for driving
small type machine tools, water pump, etc,
specially for small workshop where only
single phase current supply is available.
MC — Capacitor start series.

MY - Capacitor run series.

ML - Dual capacitor series

Mounting Arrangements

Types of IEC 34-7 1992

mounting Code | ' Code Il
IM Bs IM 1001
IM Bs IM 3001
IM Ba IM 1051
IM Br IM 1061
\M_Be IM 1071
IM B M 36_01
IM Bz IM 2101
IM Bas IM 2001
IM v1_ | IM 3001

KHM Single Phase Motors
incorporate:

Superior finish

Motor size according to IEC. DIN
Totally Enclosed Fan cooled
Light construction

Top mounted terminal box

IP55 Protection, 1C411 cooling
Choice of foot or flange mounting
Motor frame size from 56 ~ 112

Rated at 230V / 50Hz

Types of IEC 34-7 1982

mounting Code | Code |l
Ly IM Vs I 3021
-

] IM Vs M 1011
{E[E IM Vs IM 1031
ﬂ IM Vs IM 2011

]

iy
3 ‘J IM Vis IM 12111
E

[
5 I Vis I 3611
0
‘,l-‘;'l
IM Ve IM 3631
E
P
I IM Ve IM 2031
B
El i IM Vs IM 2131




MC Capacitor Start Series

Rated full-load Rated full-load Full-lcad locked locked break Starting net
| output current speed power efficiency rotor rotor down capacitor weight
Motor Type | power
220V factor n current torque torque (250 V)
kw A s cosp B l/In M/ % (95 uF kg
MCT7112 0.18 1.9 2750 0.72 60 6.3 3.0 1.8 75 6.2
MCT7122 0.25 D4 2770 0.74 64 6.25 1.0 1.8 75 6.2
MCBO12 0.37 3.36 2800 0.77 65 6.25 28 18 100 8.2
MC8022 0.55 4.65 2810 0.79 68 6.24 2.8 18 150 9.0
MC90S-2 075 6.1 2820 0.82 70 6.1 25 | 18 200 125
MC80L-2 1.1 84 2820 0.83 72 7.2 25 1.8 300 14.0
MC100LA 2 15 1.2 2830 0.84 73 7.2 25 18 400 2.5
| mciooLB2 22 157 2830 0.85 75 7.65 22 18 2X300 5.5
MC112M-2 3.0 212 2840 0.85 76 71 22 1.8 2X300 26.0
MCT114 0.12 19 1350 0.58 50 4.8 3.0 1.8 75 8.1
MCT124 0.18 25 1370 0.62 53 48 | 28 1.8 75 6.7
MC8014 0.25 31 1400 0.63 58 4.8 28 1.8 100 8.9
MC8024 0.37 42 1410 0.54 e 5 2.5 1.8 100 9.6
MCIDS-4 0.55 555 1420 0.689 66 5.2 25 1.8 150 12,5
MCI0L-4 075 677 1420 0.73 68 55 25 1.8 200 15.0
MC100LA-4 1.1 95 1430 0.74 71 6.4 2.5 1.8 400 23.0
| MC100LB4 15 125 1430 0.75 73 6.4 25 18 400 | 210
| MC112M4 22 17.8 1440 0.76 74 6.8 22 1.8 2X300 35.0




MY Capacitor Run Series

Rated full-load Rated | full-load Full-lpad -. locked locked break Running net
iotor e Egis:rt current speed power efficiency rotor rotor down capaciter | Wweight
2207 | factor n current torgue torque | {450 V)

ko A e cosg % 5fln Ma/Mn MM uF kg

MY5612 0.08 08 | 2730 0.02 56 3.2 05 | 17 | 6 32

MY5622 042 | 1.0 2730 0.92 60 3.5 0.5 17 6 3.4
MYs312 | o018 137 2740 0.92 65 3.7 04 | 17 6 39 |

| wmvesz2 025 | 190 2740 0o2 | 66 37 | o4 1.7 8 44

MY7112 0.37 2.73 2750 | 092 | 67 | 37 0.35 17 12 62

MYT7122 0.55 3.9 2760 0.92 70 39 | 085 17 16 6.3
MY8012 0.75 5.2 2780 0.2 72 | 39 0.33 17 30 83 |

| mvso2 | 71 279 | 095 75 43 033 17 35 0.0

MY90S-2 15 95 | 2800 0.95 76 48 0.30 17 a0 | 3

MYS0L-2 22 137 | 2800 0.95 77 4.8 0.30 17 | 40 15

MY5614 0.06 0.61 1330 0.9 50 3.3 045 17 6 3.2

| mvsezs 008 | 087 1340 | 09 52 2.0 0.45 17 B 34

| mye314 012 | 11 1350 08 | 57 3.2 0.40 17 8 | 40

MY6324 018 154 1350 0.9 59 3.3 0.40 17 8 45
MY7114 0.25 2.1 1370 0.92 &1 34 | 035 1.7 12 61 |

| mMyri24 | o037 3.0 1370 0.92 62 34 0.35 17 16 7.0

MY8014 0.55 43 1380 092 64 55 | bas 1.7 5 | 85
MY8024 0.75 5.5 1380 0.92 68 37 032 .| 17 30 10 |

MY90S4 T 5 1390 0.95 71 4 0.32 17 40 13

| mysoL4 15 9.9 1400 0.95 73 46 0.30 1.7 40 16

ML Dual Capacitor Series

Rated full-load Rated full-load Full-load | locked locked break Capacitor : net
Mator Type 2215:: current spesd power efficiency | oror | rotor down | Starting Running. weight
220V factor n current torque torque | (250V) | (450V) |
| kw A Aisn Cose % ls/In Me/Mn Mid/n uF uF kg
ML8012 0.75 5.15 2800 0.92 75 5.7 1.8 17 100 | 25 8.3
ML8022 11 72 2800 | 095 78 56 18 17 | 150 | 25 | 90
ML90S-2 15 92 | 2800 0.95 78 | 60 17 17 | 300 | 40 | 125
MLIOL-2 22 | 129 2800 095 | 82 6.2 17 17 | 300 | 40 | 140 |
| mL100L1-2 30 | 173 2820 095 83 6.4 17 | 17 | 400 | 55 | 205
ML112M-2 3.7 212 2820 096 = 83 65 17 17 | 400 | 50 | 260
MLBO14 055 | 3.8 1400 | o082 | 70 54 | 18 17 | 10| 25 | 88
ML8024 075 | 53 1400 0.92 71 | 55 | 18 1.7 150 | 30 9.6
MLI0S-4 11 7.0 1400 0.95 76 | 57 17 17 | 200 | 35 13|
MLOOL-4 15 9.2 1400 0.95 78 | 60 17 17 | 200 40 | 16 |
ML100LA4 | 2.2 13.2 1410 0.95 80 6.1 17 17 | 400 | 50 23
ML100LB-4 3 17.3 1420 0.95 83 64 17 17 | 400 | 50 27
 MLt2M4 | 37 21.1 1430 0.96 83 6.5 17 17 | 00 | 50 35
3 ccHw
MGTORS



Mounting and Overall Dimensions
H56 ~ 90 without Lifting Bolt

DH

1

-
=

Frame | A | AB|AC |AD| B C:II:)| DH E F[G HlK KK ELIM N P!S T | Flange No. GA
56 9 M0 |1M0 | 86| 71 |36 9 | M4x12 |20 3 | 72 56 .? 2-M18x1.5 183 (100 80 (120 7 | 3 FF 100 10.2
63 100 122|122 | 96 80 40|11| M4x12 /23| 4 | 85| 63 |7 2-M1§_1.5 218|116 | 95 (140 | 8 3I FF 115 l 142;
71 I112 136|138 | 110| 90 |[45(14 | ME6x12 .30 §l 11|77 2-MTB)<F1.5 2501130 | 110 (160 | 9 '35 FF 130 75_

_80 125.154 157 | 152|100 | 50 19. M6 X 16 :40 6 I15.5 80 10 Z-BXLS 278 165 1;50.20[] 12|35 FF 165 21.5

908 i140-‘1‘."4‘1?5 1581100-56 24| M8x19 |50 8 | 20 | 90 10 2-?20241.5 335|165 130|200 |12 3.5. FF 165 27

- Q0L |140 (174|175 | 158|125|56 |24 | MBx19 (50| 8 | 20 | 90 |10 ﬁzoxms 335 185 130.200 12 3.5I FF 185 E?_
100L |160|194 (196 | 177|140 (63 (28 M10x22|60| 8 24 | 100 12Tazo><1.5 377 215 180I250 15 4 FF 215 ;1—
112M {190 | 224 1220 184‘140 70 281 M10x22 |60 8 | 24 l112712 a25><1.5 |395:|215|180-|250]15| 4 | FF 215 a—

ccHw

-0
04

AR




Mounting and Overall Dimensions

KK
LT
| )
QO ) |
e e el &)
e <L
E —
L
- . gl
i e
: e
KK
teleliss
i —
,,,,,,,,,,,,, Q
Py [ b
a0 .
|_|| N[ }———x -
Bl 6 S
,_ L
- -
!
H56 ~ 90 without Lifting Bolt
Frame | A |aB|ac|ap| B [clo] o |elE| & | H|k Kk | L|M|N|P|s|T| Flangeno. | GA
56 |90 |110[110| 96 | 71 |36 9 M4x12 |20| 3| 72| 56 |7 | 2M1BX15 189 65 50 80 M5[ 3| FT65 102"
63 (100! 122/122| 96 | 80 [40|11 M4x12 (23| 4|85 |63 7 2M18x15|218|75 |60 |90 M5 3 | FT75 1255
71 |112 |136 138 110| 90 |45|14| M5x12 30| 5| 11 | 71 |7 | 2-M18x 15 |250| 85 | 70 {105 |M6| 3.5 FT85 16
80 |125|154|157 | 152|100 |50 19| M6x16 (40| 6 155 80 |10|2-M20x1.5 278|100 | 80 [120 M6|35, FT100 215
90S |140 | 174|175 | 158|100 |56 |24 Msx19 |50| 8 | 20 | 90 10| 2-M20x1.5 (335 | 115 | 95 140 |M8|3.5| FT 115 27
0L 140|174 175 158]125|56|24| Mex1e 50| 8| 20 | 90 |10 2M20%1.5 335|115 |95 |140|M8 85 FT115 | 27
100L |160 194 196 177 140163 |28| M10x22 |60 8| 24 . 100[12 | 2:-M20x 1.5 | 377 | 130 [ 110|160 |M8| 4 | FT 130 31
112M |190 | 224|220 | 184|140 70 28| M10X22|60 | 8| 24 | 112]12 2-M25%1.5 395|130 110 160 M8| 4 | FT 130 31
B 1 I |
5



Mechanical Design

1. Frame B3 . Terminal hoard complete
2. Frame B5 with components
3. Wound Stator 18. Terminal seal IP55
4. Rotor with shaft 18. Screws for tarminal hax
5. Front shield fixing IP55
8. Bearings 20, Cable gland
7. Key 21. Terminal box IP55({base)
8. Back shield 22. Terminal box |PS5{cover)
o 9. Name plate 23. Run capacitor
10. Spring washer 24. Mounting studs screws
11. Rods and nuts 25. Start capacitor
[z . 12. Coaling fan 26. Flange B5
o 13. Fan clamping bushing 27, Flange B14
14. Rubber seal ring 28. Screws for terminal
15. Fan cover box fixing Ip55
This catalogue is for reference only. The data may be I8 8elEtesding;screws
changed, please contact us before ordering. for fan cover fixing
s DRIVING END NON DRIVING END B
BEARINGS EEARINGS
56 6201Z2Z-C3 620122-C3 2 H22 %5
63 6201Z22-C3 620122-C3 G2 @o2XT
F 620272Z-C3 620277-C3 D15 G257
80 620422-C3 620427-C3 @20 B30RT
90 620522-C3 620522-C3 @25X PITKTF
100 620622-C3 620622-C3 D30X Q42T
112 6206Z2Z-C3 620622-C3 B30X DA2KT
6
ELECTRIC
MOTORS



" R

Al 511.:“]\ l_\\-ﬁ‘i__l;& 4 x:#\‘ !\““"'l:'l él}}l
-
}‘,I.\\",t\‘ N, "}v{%\gﬁ\ﬁﬁ i
A \:\ \ '\W\
il

i il i ;

N i A

L .
(| .\\‘1\

.
Wil
.

il li:
i

0

i ‘1\\’\ i

i
i
.ki\ ‘\‘

KHM Limited www.KHM.gr - info@KHM.gr



